Density

Pr(presence)

0.4

0.3

0.2

0.1

0.0

1.0

0.8

0.6

0.4

0.2

0.0

Prior: a
T T T T T T T
=20 -15 -10 -5 0 5 10
N = 1000000 Bandwidth =0.05679
Wos HDI low
=l
fB#860000000000000
T T T T T
0 200 400 600 800

Distance from empirical range

Density

Pr(presence)

0.05 0.10 0.15 0.20 0.25

0.00

0.8 1.0

0.6

0.4

0.2

0.0

Prior: (3,
T T T T T T T
-30 -25 =20 -15 -10 -5 0
N = 1000000 Bandwidth = 0.08034
1]
Blg.
- =]
n 5]
_ 8
a8
| g2
FJ 1=
N
i #886060000
T T T T T
0 200 400 600 800

Distance from empirical range

Density

Pr(presence)

0.3

0.2

0.1

0.0

1.0

0.8

0.6

0.4

0.2

0.0

Prior: 3,

T T T T T T
0 2 4 6 8 10

N = 1000000 Bandwidth =0.05921

Wes HpI high

ooooogggow

] 8860000

T T
0 200

T
400

!
600

!
800

Distance from empirical range



